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Determine the solution to the system of equations using the graphing method.
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Determine the solution to the system of equations using the substitution method.
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Determine the solution to the system of equations using the elimination method.
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Determine the solution to the system of equations using ANY method.
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Solving Systems of Equations by Elimination

Solve each system by elimination.
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Solving Systems of Equations by Graphing Date Period

Solve each system by graphing.

3 2) y=4x+3
1) y=exd-3
3 : y=-x—2 "
I '. (%I‘IL} mf\ L"'\\ \\
y=—x-3 S 1
3 ) 4
Ay =
'\\ ? | o -
N
. SN,
N 5 1 PR ™
2 \_\ '{.,..* B v
-« \ > N
5 1 1 I \ E ﬂ | — 2R I
] }.‘\{:
30 )”/ N o Y \""ﬁ
B T P i
/T 4

y =lx -4 \\ L\‘\\
4 i —
As YESRN
\ (2-1)]
N
>ﬂ-\ t —] >
“— 1\?\\\ s =
- TN~ |
,--'><& | \\ |
Y 4




Kuta Software - Infinite Algebra |

Solving Systems of Equations by Substitution

Solve each system by substitution.
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